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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you -——--—--- to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) preseribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—----—--- : the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4y fiasco

3- We were very unhappy with the -——-—-—— way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used ---—-- --- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -----—---- matter.,
1) contradictory  2) consistent 3) colloguial 4) trivial

6- The police wondered about the man’s ---------- for committing the erime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8 “It is my firm -------- ,' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
—————— dictionary,
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—------ their
watches,
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers., are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) ====me—- the desired crop relatively unharmed.
Some of these act by interfering with (12) —=——— and are ofien synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites, railways and railway
embankments are not selective (13) ===---=-=- all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
i I Rem— as wildlife habitat.

Some plants produce natural herbicides, (15) =memaeee- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, 1s
called allelopathy.

11- 1) they leave 2)when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the
best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Traditionally the philosophy of science has sought a definition of “scientific explanation.” but
not a dictionary definition. A dictionary definition merely reports how scientists and others
actually use the words “scientific explanation.” Traditional philosophy of science secks a
checklist of conditions that any scientific explanation should satisfy. When all are satisfied, the
checklist guarantees the scientific adequacy of an explanation. In other words, the traditional
approach seeks a set of conditions individually necessary and jointly sufficient for something’s
being a scientific explanation. This “explicit” definition, or as it was sometimes called. this
“explication” or “rational reconstruction™ of the dictionary definition, would render the concept
of scientific explanation precise and philosophically well-founded. An explicit definition gives
the necessary and sufficient conditions for a thing. event. state. process, property to be an
instance of the term defined. For example: “triangle™ is explicitly defined as “plane figure
having three sides.” Since the conditions are together sufficient, we know that everything
which fulfills them is a Euclidean triangle and since the conditions are individually necessary.
we know if just one is not satisfied by an item., it is not a Euclidean triangle. The beauty of such
definitions is that they remove vagueness, and provide for maximally precise definitions.

16-What is the author’s primary goal?

1) Elaborating on what scientific explanation is

2) Exploring the concept of philosophy of science

3) Making a distinction between explicit and implicit definitions
4) Persuading readers that dictionary definitions are faulty
17-Based on traditional philosophy of science, what should a good scientific explanation
satisfy?

1) Rational approaches

2) Explicit definitions

3) Dictionary definitions

4) A checklist of conditions

18-What does “well-founded” in line 9 mean?

1) Well-built 2) Well-grounded  3) Well-informed 4) Well-adjusted
19-What does the pronoun “one” in line 14refer to?
1) Item 2) Triangle 3) Definition 4) Condition

20-Which of the following best represents the author’s attitude toward dictionary
definitions?

1) They could be used instead of scientific explanations.

2) They should be completely discarded.

3) They ought to undergo rational reconstruction.

4) They provide vague descriptions of terms such as a Euclidean triangle.
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PASSAGE 2:

Karl Popper was among the most influential of twentieth-century philosophers of science.
perhaps more influential among scientists. especially social scientists, than he was among
philosophers. Popper is famous among philosophers for arguing that Hume's problem of
induction is a sort of pseudo-problem. or at least a problem which should not detain either
scientists or those who seek to understand the methods of science. The problem of induction is
that positive instances don’t seem to increase our confidence in a hypothesis. and the new
riddle of induction is that we don’t even seem to have a good account of what a positive
instance is. These are not problems for science, according to Popper, since science is not, and
should not be in the business of piling up positive instances that confirm hypotheses. Popper
held that as a matter of fact. scientists seek negative evidence against. not positive evidence for.
scientific hypotheses. and that as a matter of method, they are correct to do so. If the problem
of induction shows anything. it shows that they should not seek to confirm hypotheses by
adding to evidencefor them. Instead good scientitic method, and good scientists, seek only to
falsify hypotheses. to find evidence against them, and when they succeed in falsifying, as
inevitably they will (until science is “complete™ — a state of affairs we won’t be able to realize
we have attained), scientists do and should go on to frame new hypotheses and seck their
falsification. world without end.

Popper’s argument for this methodological preseription (and the descriptive claim that it is
what scientists actually do) begins with the observation that in science we seek universal
generalizations and that as a matter of their logical form. “All Fs are (Gs”. they can never be
completely confirmed, established, verified, since the (inductive) evidence is always
incomplete: but they can as a matter of logic be falsified by only one counterexample. Of
course as we have seen. logically speaking. falsification is no easier than verification. owing to
the role of auxiliary assumptions required in the test of any general hypothesis.

21- Which of the following would be the best title for the passage?

1) Induction as a Pseudo-Problem

2) Karl Popper: A twentieth Century Philosopher

3) A Chaotic State of Affairs

4) The Right Scientific Method

22- According to Popper, which of the following is true?

1) The more positive evidence we collect, the better we can support a hypothesis.
2) Scientists should find negative evidence against a hypothesis.

3) Many scientists are not confident enough to solve scientific problems.
4) Every scientific problem is like a rniddle to be solved.

23- What does the word “held” in line 10 mean?

1) Maintained 2) Contained 3) Referred 4) Suggested
24- What does the pronoun “them” in line 14 refer to?

1) Scientific methods 2) Good scientists

3) Hypotheses 4) Pieces of evidence

25- Why is the claim that “All Fs are Gs” never completely verified?
1) It is basically wrong to go after universal generalizations.

2) The process of falsification is much easier than that of verification.

3) It is extremely difficult to lind sufficient instances to support it.

4) It is highly probable that one counter example will be found.
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PASSAGE 3:

Although the earliest scientific ideas go back to early recorded history, physics as we know it
today began with Galileo (1565-1642). Galileo and his successor Isaac Newton (1642-1727)
created a revolution in scientific thought. The physics that developed over the next three
centuries. reaching its culmination with the electromagnetic theory of light in the latter half of
the 19th century. is now referred to as classical physics. By the turn of the century. it seemed
that the physical world was very well understood. But in the early yvears of the twentieth
century, new ideas and new experiments in physics indicated that some aspects of classical
physics did not work for the tinyworld of the atom or for objects traveling at very high speed.
This brought on a second great revolution in physics, which gave birth to what is now called
modern physics.

The primary goal of all sciences. including physics. is generally considered to be the
ordering of the complex appearances detected by our senses — that is, an ordering of what we
often refer to as the “world around us.” Many people think of science as a mechanical process
of collecting facts and devising theories. This is not the case. Science is a creative activity that
in many respects resembles other creative activities of the human mind.

26- According to the passage, physics did not begin until 5

1 Jearly recorded history

2)the time of Galileo

3)the 20th century

$)the formulation of the electromagnetic theory

27- Which of the following could classical theories of physies NOT explain?

1)Recorded history 2)Newton's experiments

3)The world of the atom 4)Electromagnetic theory

28- The age of classical physies dated from about ;

1)1564 to 1642 2)1564 to 1900

3)1850 to 1900 4)1642 10 1727

29-What does the word “tiny” in line 8 mean?

1) Small 2) Mysterious 3) Hidden 4) Astonishing

30-The author of the passage defines the “complex appearances detected by our senses”
(line 12) as our .

1) eye. ear. and nose 2) visions of the future

3) knowledge of physics 4) environment
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